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Topic:- General Knowledge

1) Who was conferred the title of 'Father of the Lok Sabha' by Jawaharlal Nehru? /
AT AT A gRT ‘Al YHT & TP B SUTY fhrd uer &1 18 A2

1. Ganesh Vasudev Mavalankar / TT0I] dlﬂad HIIABR

2. Mahatma Gandhi / HelHT et
3. Hukum Singh / §9H Rig

4. Jawaharlal Nehru / STATgRdTd 78S

Correct Answer :-

« Ganesh Vasudev Mavalankar / TTOIS] aﬂﬁa HATAD

2) Who among the following Industrialists won the Bharat Ratna in 1992? /
1992 # frferiaa # 9 fa Seiufa 3 yRa & sitar?

1. JR.D. Tata / S.3{R S T

2. Dirubhai Ambani / GTEHTS SN

3. Rahul Bajaj / XIg ¢l &S]

4, Azim Premji / ST St

Correct Answer :-

« JR.D. Tata/9.3/R S 2TeT

3) ‘Rose of God’ was a classic poem written by: /
Vel 3P TS’ TPH IPpP Hiaar A, S 577 gRT fordt 15:
1. Rabindranath Tagore / fdgTy &R



2. Kamala Suraiyya / S HI GRAT
3. Sri Aurobindo / 8t 3RIfSE)
4. Sarojini Naidu / RIS a1ag

Correct Answer :-

e Sri Aurobindo / ’}ﬁ Gﬁm

4) A six lane expressway is announced in the Madhya Pradesh budget for the year 2018-19
between which of the following cities? /

aY¥ 2018-19 P A Y P doie A fA=ferfad A A fH wgl & 9 o8 o9 & tvaa
RN LI R ER

1. Bhopal and Jaipur / a7 Td oIy
2. Bhopal and Delhi / HOTe T4 faeett

3. Bhopal and Indore / HaTe Qa E_CaT

4. Bhopal and Mumbai / T Ud ﬁa's‘

Correct Answer :-

- Bhopal and Indore / HUTA Td &R

5) Where is the Atal Bihari Vajpayee Indian Institute of Information Technology and
Management located in Madhya Pradesh? /

7 U™ # Sred fagrt arerudt R gamT Wit ud yeus SR wel R 82
1. Bhopal/'l-ntﬂ?‘f
2. Indore/_i;raq

3. Jabalpur / SI&[¢TYR
4. Gwalior / IR

Correct Answer :-

. Gwalior / TTfeRIR

6) Tawang Monastery, the largest monastery in India, is located in .
HRA ¥ 9 ST 7S, 9417 48 #fR@3I

1. Arunachal Pradesh / 31U UG

2. Sikkim / ffapH



3. Ladakh / dIgld
4. Manipur / A0TgR

Correct Answer :-

o Arunachal Pradesh / SSUAA FI%-‘?T

7) Which mineral reserves are largely found in Balaghat and Chhindwara districts? /

qraTare 3R fearst fora & &1 91 e YR Sau® © U o URIT S1eT 82
1. Dolomite / SIAMHTSC

2. Coal / HIIAT

3. Manganese / BTN

4. Bauxite / SIGUgC

Correct Answer :-

« Manganese / HeT

8) Which Indian became the world’s second youngest Chess Grandmaster at just 12 years,
10 months and 13 days of age in June 2018. /

DI AT U, S 2018 | 12 T, 10 7 3R 13 fa1 1 3y A fama &7 gy W« BYen
TA¥Sl ASHRER F412

1. R. Praggnanandhaa / 3{R. U3THG&

2. Koneru Humpy / D E'ﬂ:ﬁ

3. Viswanathan Anand / [d%T4= 3{Hg
4. Ramachandran Ramesh / TG XHTT

Correct Answer :-

« R. Praggnanandhaa / 3R, U3¢

9) The iconic ‘Malgudi Days’ was a novel written by: /

AT SUIRT AIeS! S9' §9% gRT ferar /T AT
1. Vikram Seth / [dpH T3
2. R.K. Lakshman / 3R.. qEHTT

3. R.K. Narayan / 3R.&. ARl



4. Anita Desai / 3=l é?ﬂ's‘

Correct Answer :-

. R.K. Narayan / 3{R.&. TR0

10) The palace built in the form of Krishna’s crown in Jaipur with 953 outer-wall windows
is: /

SR A WM & a1 F ¥u § fHfHfa vga, o 953 188 Har areh Rysfeal wflka
9T 47 8, 98 A 8

1. Amer Fort / 3R fdar
2. Hawa Mahal / 8dT Hed
3. City Palace / 4 Tag
4. Kumbhalgarh Fort / p&clle foar

Correct Answer :-

o Hawa Mahal / gdl Hgd

11) Who among the following is a Governor of a state and is also a former Chief Minister? /
frafefEd # @ 919 T 7 & IsuuTe 3R 7d g o @2

1. Anandiben Patel / 3THcIa e

2. Uma Bharti / 3HT Rl

3. Digvijaya Singh / fefiaera Rig

4. Kiran Bedi / fobvoT &t

Correct Answer :-

« Anandiben Patel / 3 ldT Ucd

12) The only Jama Masjid in India without Minars is found in which of the following states?
/

YRd A foar fAR) arch v s afie Aefafla A fParsa d 82
1. Madhya Pradesh / AV
2. Uttar Pradesh / Bﬁ?m

3. Tamil Nadu / altla'_'||§
4. Karnataka / W



Correct Answer :-

« Madhya Pradesh / TG

13) Which of the following National parks is not located in Madhya Pradesh? /
frafafeEa # & 19 a1 wgia Se aw e A fRa =8 32

1. Madhav National Park / HTYd ?T@H 3l

2. Pench National Park / 09 Tl'g:rq 3l

3. Satpura National Park / HdYST ?T@'q 3
4, Manas National Park / HI1H Tl'@'q REIGH

Correct Answer :-

« Manas National Park / HIFYH TI@'C[ 3

14) Indore Airport is named after ./

SAREAS AT HIAM S AW R I@ 18?2
1. Devi Ahilyabai Holkar / &al SffgeTars gl

2. Chennamma / ST

3. Chand Bibi / 1G STall

4. Manikarnika / AT 0feRT

Correct Answer :-

« Devi Ahilyabai Holkar / &t 3ifgcTaTs Bledhy

15) Who is the Director of Mahatma Gandhi State Institute of Rural Development and
Panchayati Raj in Madhya Pradesh? /

A Y= | Wt Mt Ireg Urfior iy ST SR vamaedt e & fFd=e o1 82
1. Ashwini Kumar Roy / {4t WQ}I’H
2. Rajesh Rajoura / NERRITIN

3. Sanjay Kumar Saraf/ goy PHIR W

4. Shiv Narayan Mishra / fRrg AR s

Correct Answer :-

. Sanjay Kumar Saraf / I HHR IARTH



16) Chanderi town is mentioned in Mahabharata .Who among the following was the King of
Chanderi during the Mahabharata period? /

HETHRG § T3] YEY BT Seoid (T 74T § | HETHRT BT & SR fAefafad § 9 &4
TS BT IS UT?

1. Ravana / XIdU[

2. Kans / HY9

3. Arjun / &Iﬁ:[
4. Shishupal / |§|5§!El|ﬂ

Correct Answer :-

« Shishupal / |§I§IC|IFI

Topic:- General Hindi

1) HUST - & o T wafgar! ard gl 31 ufeaa &1 g
1. U¢, a1, 31feR

2. U¢, dRH, IR

3.7¢, 99, IR

4. U, a9, R

Correct Answer :-

. UC, 994, dR

2) 3R TR HT IWTAT - YeTa BT a1 YT A fApeai A G d A g?
1. ISl o AR HTE 61 U A YR & |

2. XTSfd Y TR HIS BT ST ST 5

3. Ao A TR HTS BT gART deT g |

4. 511G A1 TR HIS BT 3Hald ST 2|

Correct Answer :-

. o a1 R HTS BT 3l SeT g

3) IwH- & forg 98t |ft fasde &1 g



1. J+oTol
2. 9d+old
3. ool
4, A+

Correct Answer :-
. TS
4) NEART-FI Y FUFAF T I P AT
1. GRIATRYT
2. g
3. QRO
4. gareT

Correct Answer :-

5) TS - & forg wEt Aft fasde =t gfu
1. S+31fe

2. gfa+anfa

3. 3A+3(TS

4. 3

Correct Answer :-

- gfrente

6) TR R UTq TWHT - GaTaR &1 34 g fAreni A q w1 ar g2
1. THI a1 PIg B BRI
2. §gd YA g

3. 36 THS o]

4. g e 3T

Correct Answer :-

- IHHM ATell Bl B BT



7) 3T - U | §1 g 19 7 A D A1 82
1. 3FERT]

2. 31

3. SHTERT

4. S{ERTT

Correct Answer :-

8) U AT eRfa< 9 RIY g5, FA A ¥ | - ¥ A9 & A &9 A1 PR 82
1. IUHT ABR

2. TR SR

3. TPId 3fAPR

4. IRIG MABR

Correct Answer :-
. JUHT 3APR
9) foRT IUAT & IRY 37T IufRAI[A &, TET gl @ -
1. 3UHT
2. qegHn
3. QUi
4. STH A BIS ol

Correct Answer :-

10) <RIV W 9 & A B9 A1 JHE B2
1. fg] 99

2. 79 AgEY YA

3. g 999

4. 3{TITHTT THY



Correct Answer :-
o A AGEY N
11) ‘RRA W I8 FRATH I FEA AT R?
1. 3FTATGT
2. 3Ty
3. 3Gy
4. 3EATY

Correct Answer :-

12) g=Rgr ® 9 9§ S 91 9w 32
1. FHYRY U

2. 79 QHN

3. TSN AN

4. 3{TYTHTT THY

Correct Answer :-

. HHYRY U

13) I ITHT I T Vg A A A S AT 32
1. ST

2. MR

3. S{TUT-4Td!

4, HUDR

Correct Answer :-

14) 9 B 7 S BT Hied|
<¢@d q9 Yo fafs of, sy A v fRu- A dd s a8
1. YA Y



2. BRI ™
3. R
4, YOID

Correct Answer :-

. U TH

Topic:- General English

1) Choose the most suitable determiner for the given sentence:

You can catch bus from this station to reach your destination, as all buses from here
pass through your hometown.

1. little
2. each
3. either

4. any

Correct Answer :-

2) Choose appropriate articles for the given sentence:

Can you switchon __ light, please?  Sun has set and it’s dark inside  room.
1. the, The, a

2.the, A, a

3. the, The, the

4. a, The, a

Correct Answer :-

« the, The, the

3) Spot the error in the given sentence:
Have everybody returned after playing football?

1. football?



2. Have everybody
3. after playing

4. returned

Correct Answer :-

« Have everybody

4) Choose the correct adverbial clause for the given sentence:

, he was making sandwiches.

1. Although we had arrive
2. In spite of arriving

3. When we arrived

4. As we arriving

Correct Answer :-

« When we arrived

5) Choose the appropriate prepositions for the given sentence:
_____chasing a bird, the cat jumped __ the window and landed _____ the soft grass outside.
1. While, through, on

2. On, from, in

3. During, at, on

4. At, along, in

Correct Answer :-

« While, through, on

6) Choose the appropriate verb to complete the given sentence:
Canyou ___ me the way to the bus stop, please?

1. show

2. showing

3. showed

4. shown



Correct Answer :-

« show

7) Choose appropriate conjunctions for the given sentence:

Dad would finish having his soup__ the rest of his family, ____ he liked to have it hot.
1. whether, for

2. while, so

3. before, after

4. before, because

Correct Answer :-

« before, because

8) Choose the option that is appropriate to fill in the blanks in the given sentence:
Teachers have to generally _ their students so that they _ well in their studies.
1. motivating, performing

2. motivate, perform

3. motivation, performance

4. motivated, performed

Correct Answer :-

« motivate, perform

9) Choose the option that best transforms the sentence into its other voice:
This house is cleaned everyday by the cleaning woman.

1. Every day, this house is cleaned.

2. The house is being cleaned by the cleaning woman.

3. The cleaning woman is clean the house everyday.

4. The cleaning woman cleans this house every day.

Correct Answer :-

« The cleaning woman cleans this house every day.



10) Choose the option that best transforms the sentence into its other voice:
The candidate has written all the answers correctly.

1. Answers are written correctly by the candidate.

2. All the answers were being written correctly by the candidate.

3. All the answers have been written correctly by the candidate.

4. All the answers are being written correctly by the candidate.

Correct Answer :-

« All the answers have been written correctly by the candidate.
11) Choose the option that correctly spells the words to be filled in the given sentence:
The of the school said that the boy behaved like an
1. principle, angle

2. principal, angel

3. principal, engle

4, principel, angle

Correct Answer :-

« principal, angel

12) Choose the correct form of tense for the given sentence:
In ancient times, hostages  as security on a treaty.

1. were taken

2. had taken

3. was being taking

4. are taken

Correct Answer :-
« were taken

13) Choose the option that is closest in meaning to the highlighted word in the given
sentence:

Naina gets very angry over trivial matters and is unable to control her temper.



1. immense
2. huge

3. crucial
4, small

Correct Answer :-

« small

14) Choose the option that best fills in the sentence:
Of the three brothers, Ram is

1. oldest

2. the eldest

3. the older

4. eldest

Correct Answer :-

« the eldest

Topic:- General Mathematics

1)
In AABC and APQR. if AB=AC, #C = 2P and #B = 2Q. then the respective two triangles are:/
AABC UG APQR #,3fg AB=AC.2C=/PaANMB=,Q §I a9 g Bega Bl

1. Isosceles and congruent / W@_Gﬂ@ JuT gafmm

2. Isosceles but not congruent / W@ﬁﬂ_g' NERRERNEEE]

3. Congruent but not isosceles / ﬂ?ﬁ"mﬂ W ?I'J-T@‘cﬂ’g’ H@’f

4, Neither isosceles nor congruent / I ar FITI'@_GTIE AT _sgf T

Correct Answer :-

« Isosceles but not congruent / W@Gﬂ‘g NICERIEIRIRE el

2) A letter is chosen at random from the letters of the word 'TRANSISTOR'. The
probability that the letter chosen is a consonant is: /



e 'TRANSISTOR' & &R I U &R gTefevddl g Taf-d far ar | Iafd sier
U ol g, 39! UIRiPdT 8

3

3) If a solid cube of side 14 cm is cut into 8 cubes of equal volume, then the surface area of
the new cube is: /

e 14 A fHR a1 TP ST 991 B FHH T 91l 8 T A BT SATdT 8, a9 ¢ 9
@1 Y¥Ig &% d ¢

L 294 cm? [ 294 FAY
5 302 cm? [ 302 JH
3. 186 cm? / 186 T+

4 252 cm? [ 252 dH?

Correct Answer :-

294 em? / 204 THY

4) What will be the unit’s digit in square of 58976? /
58976 & Gl W SHIS BT 3 T GI?

1.4

2.2

3.3

4.6

Correct Answer :-



5) The distance between the parallel linesy—-8=0andy+1=0is ./
IHATR Y3y -8=0Tdy + 1 =0 F TP g 21

1.8

2.7

3.1

4.9

Correct Answer :-

6) A cone, a hemisphere and a cylinder stand on equal bases and have the same height. The
respective ratio of their volumes is: /

T ip, U g Td U S, THUHI YR W FRIG & T 371 HaTs U FAH 2
P AT BT UT B:

1.1:2:1
2.1:2:3
3.2:3:4
4.3:2:1
Correct Answer :-

e« 1:2:3

7) A factorof p(x)=7x% — 4/2x— 61is: [
p(x) = 7x® — 4/2x — 6 H T AUIES g
=
1.x+~.,2
=
2lx—|—x.3
3 4x + 3\."5

II'_
4 T+ 3v2

Correct Answer :-

. Ix+ 3\."5



8)
AABC is inscribed in a circle with center O and if #BAC = 2x and #BCO = 2y, then which of the

following relation is CORRECT?/
h@mﬁrﬁﬁﬁﬁhBCjﬁéﬁWWﬁBﬂTﬂﬁLBAC = wa rBCO = 2y & o
TFATEd # ¥ ®id 6 Had Hel 67

1, xty=45°

e — D
) XY 45

3 xTy=90°

4. =y =0

Correct Answer :-

11 —13
9 On multiplving = with additive inverse of T2 ' Ve get: /

= @ = & e fdeNe & AT A0 aReT W, 53 T Ted g

20 14
132
1. 173

—216

525

143
3. 280

—190

4. 153

Correct Answer :-

143
. 280

10) The complement angle of the supplement angle of 150%is . /
150° GTeT HIXS HIOT HT Tab HIOT _____

1, 70°

2. 90°

3, 60°



4, 30°

Correct Answer :-

11) ABCD and AEFG are two parallelograms. If #C =58° then £F=_ ./
ABCD @97 AEFG & THGIOR Igelsl &1 Ifg 2C =58, a9 2F=__ &l

3, 58°

4. 32°

12) If 2a—3b =3, then the value of 82 —27b® —90abis ./
AfE 22— 3b=5. dF 8% — 2763 —90ab HT AT ___ 2

1. 25
2. 100
3.225

4,125

Correct Answer :-

e 125



4 4n—1

Correct Answer :-

- 8

14) Simplify: X2y? + 5, (xy)? , where X and V are positive real numbers. /

x2y? -+ { (xy)? & el F, STGI X dATY UellcHS dRed ideh TEATT g

1. Xy

Topic:- General Logical Ability

1) Dipa is seven years older than Shikha. Fifteen years ago, Shika’s age was three quarters of
Dipa’s age. Find the present age of Dipa. /

$ur, RARaT A 91 G1e 91 21 UG I ugd, RRar 1 3U Siut 1 39 1 i e A
31 F adH= 39 FaTSU|

1. 36 years/36aﬁ
2.42 years/425|'5f
3.43 years/436|13f

4, 41 years / 41 G

Correct Answer :-

o 43 years /43 ay

2) 60% of the populations of a town are males. If the total population of the town is 76000,
then find the population of females in the town. /

TSP e B AT H 60% oY & | TfS WG B FA SAMATT 76000 B, Y =Me¥ H Afganai
CAR I CIMEGIE|



1. 30200
2.30600
3. 30000
4. 30400

Correct Answer :-

« 30400

3) Find the length of a bridge, which a train 120 meter long and travelling at 54 km/hr can
cross in 20 seconds. /

I Ud D AT T B+ O 120 HIE TH IaTS!, 54 fpfi/der 1 arer 3 ged §¢ 20
Jos A YR BT Adl 2

1. 170 m/ 170 Hic
2. 190 m / 190 HicR
3. 180 m / 180 HIcR
4.160 m / 160 Hicx

Correct Answer :-

. 180 m/ 180 Hicx

4) By selling a horse for Rs. 670, a tradesman would lose 5%. At what price must he sell it to
gain 5%? /

670 ¥UT H TP TS B IIH ATURY P 5 Ufa=rd &1 g1 gift1 5 ufawra o1y ure
A & fore I OIS &l fva= <™ TR <41 g2

1. Rs. 737.40 / 737.40 24U
2. Rs. 740.52 / 740.52 2UU
3. Rs. 738.52/738.52 %Y

4. Rs. 736.40 / 736.40 YU

Correct Answer :-

« Rs.740.52 /740.52 %UU

5) In how many different ways can the letters of the word ‘GAMBLE’ be arranged? /

fpam fafir= afiel @ g ‘GAMBLE’ & 31&RY &) HafRyd fbar st a1 82



1. 720
2.710
3.730
4. 740

Correct Answer :-

« 720
6) Study the following information carefully and answer the question given below.

Eight persons L, M, N, P, Q, R, S, and T are sitting around a circular table facing the centre.
Q is not the neighbour of P or R. M is second to the left of T and third to the right of P. R is
third to the left of N, who is to the immediate left of T. L is second to the right of P.

Which of the following is definitely true? /
R & 7€ SEe) ®) Argde Ue 3R IR T U BT I« S

313 YGX; L, M, N, P, Q, R, S, 3R T U TP R AW & TRY 3R Th g3 o1 3R Yg
PP IS FURI Q, PATR BT USIAT AR &1 M, T & 1T 3R ORI § 3R P & aT¢ 3
TRRIBIR, NP IW IR RIS, T F THF SIH AT I L, P F ST gERT &

frafeafad A 9 @19 arafae 99 82
1. Q is to the immediate right of S. / Q, S%WWW%I
2.Mis betweenNandQ./M,Nx’ﬁTQ%Eﬂﬂﬁ%I

3. R is to the immediate right of P. / R, P%mm wél
4. R is between P and S./R,P@TS%@T’Jﬁ%I

Correct Answer :-

« R is to the immediate right of P. /R, P & G E‘TQ 3R %I

7) What must be added to each term of the ratio 5:11, so as to make it equal to 3:4? /
SUTd 5:11 & TP UG | fha=T1 SST AT AT, d1fh 3 3:4 & SRR T1T o1 AD?
1. 12

2. 13

3. 10

4. 11

Correct Answer :-



8) A dice is thrown. What is the probability of getting a number greater than 2? /

T Ui &1 BT SITdT g1 2 9 3 |3 UTed o4 &1 U1 &1 82

3
1

N
Lad | =

ad | 2

[ S

4.

Correct Answer :-

9) Rs. 1500 is invested in two parts such that if one part is invested at 6% and the other at
5%, the total interest in one year from both investments is Rs. 85. How much is invested at
5%? /

1500 TUT B & fwal A 39 upR o= forar wiran @ for we i, 6% wR o= fan
SITdT & 3R AIH BT 5% R a1 foran sirar g, a1 o= & ue adf § oa 85 $¢ &1
TS UTWd BT 81 5% TR far an fAdwr faan g2

1. Rs. 450 / 450 94U
2. Rs. 550 /550 %4y
3. Rs. 500 / 500 ¥UU
4. Rs. 400 /400 ¥UUy

Correct Answer :-

+ Rs.500/500 %4y

10) In a certain code, BEAN is written as ABNE and SALE is written as LSEA. How is
NEWS written in that code? /

U fAf¥d #1s &, BEAN &) ABNE 3R SALE ! LSEA & 70 ¥ forar s 81 59 ®is A
NEWS & $ ferar s



1. SNWE
2. WNSE
3. WSEN
4. SNEW

Correct Answer :-

« WNSE

11) In a certain code, DIARY is written as @5*%4 and LOOK is written as $##3. How is
LOAD written in that code? /

U Af3d BIs H, DIARY B @5%%4 3R LOOK &1 $#43 F U H fRrar a1 81 59 dis
H LOAD &I f5d YR for@r smeam?

1. $%@*
2. $#%*
3. $#*@
4. $#@%

Correct Answer :-

12) If 2 men or, 6 women or, 4 boys can finish a work in 88 days, then how many days will 1
man, 1 woman and 1 boy together take to finish the same work? /

afe 2 I I, 6 AFSETE T, 4 TS TP HTH &1 88 {1 & T H3 IFd &, al S HTH &)
TH H3 & e 1 7oy, 1 9igan Sik 1 a5 ! fbaq feq &

1.97
2.96
3.95

4. 94

Correct Answer :-

13) Find the average daily expenditure of a man in 2017, who spent Rs. 76310 in the first-
half year and Rs. 87940 in the last? /



2017 ¥ TP Afqd & 3N9d S o &1 uar e, foraq ugdt SHTE H 76310 $UY SR
MRS TS A 87940 U W fpw?

1. Rs. 453 /453 24U
2. Rs. 452 /452%UU
3. Rs. 450 /450 %4YUg
4. Rs. 451 /451 24U

Correct Answer :-

+ Rs.450/450249d

14) Look at the five numbers given below:

851, 743, 624, 319, 298

If the positions of the first and the third digits in each of the above numbers are
interchanged, then which of the following will be the third highest number? /

851, 743, 624, 319, 298

gfe SR & 15 Twmai # ugelt v TR TEm &t 3y # 9 faur sirar g, Y di A
W T SO ged S=aH 9. gl

1. 624
2.298
3.319
4, 743

Correct Answer :-

. 624

Topic:- General Science

1) Who discovered the presence of electron in an atom? /
TS URHTY H gaag{ &1 SufRufa &1 @i fa 12
1. Chadwick / JSfdd

2. Niels Bohr / FIed dR

3. Rutherford / XaXB IS

4.J.J. Thomson / @f@f Qﬁ'ﬁlﬂ:f

Correct Answer :-



e J.J. Thomson / SRS ARG

2) Identify the plant tissue that is not a type of meristem./
39 UIeY S dP 9 Ugdrd Sifere o f v yoR &1 fRusaias (Afrew) 98 81
1. Lateral / 13|T5’a|$ (ﬁaﬂ)

2. Intercalary / ﬂﬂ}lﬁﬁg (s'aqasélil)
3. Apical / TSR (Qftrewa)

4, Xylem / SIS CTH

Correct Answer :-

o Xylem / GIIgcH

3) is used as a fuel in nuclear reactors. /
BT UIRT A1fHS 1 Ruged § $¢q & =u H fHar Jar g
1. Co-60
2. P-32
3. 1-131
4. U-235

Correct Answer :-

« U-235

4) Which one of the following suggestions is effective in controlling air pollution? /
fFrefofaa ggmal & 9 $19 91 9y uguur &1 fFRifa @ | gurdt 32

1. Driving diesel vehicles / Snl\rlﬂ dlie- ddlanx

2. Using fossil fuel as a source of energy / ol & Fd & T ﬁ\_rﬂa]m%ﬂqmw

3. Using alternate sources of energy / Foll & debfetis Tl BT IUTNT BT
4. Having industries far away from human dwellings / 3&11 &1 A &narmﬁa‘gagm

Correct Answer :-

« Having industries far away from human dwellings / SEITIl &1 T &m@ra@?@?m

5) Which one of the following is a homogeneous mixture? /



fFrafafad & 9 o919 91 v Ierdiy fayor g2
1. Saline water / QR wlc]

2. Butter / HRA

3. Distilled water / 3THd ST

4. Blood / ¥ad

Correct Answer :-

« Saline water / WRT Sl

6) The method used to separate petrol from crude oil is: /

Fad dd I UG DI 3T B & g ST $1 & areit fafdr g:
1. Simple distillation / HIYRUT 3HI

2. Fractional distillation / 3fif1& 3MYd=

3. Steam distillation / HIY 3{[Hd
4. Chromatography / DIHCTITH!

Correct Answer :-

« Fractional distillation / 3T TG

7) The velocity of an object at any given instant of time is called .
ey s T ar R usaegaFIaT__ FgATAT 8l

1. Instantaneous velocity / TTeeAOTR T

2. Variable velocity / TT@ET T

3. Average velocity / 3f&T a7

4. Uniform velocity / THEHTT & T

Correct Answer :-

. Instantaneous velocity / ATeeTTOTs =T

8) What would be the momentum of the bullet and the gun before firing? /
AT FATH | TEA AT T TGH HT AT F9T gIIT2

1. The momentum of the bullet and the gun before firing would be zero / AT FATT | TZ AT
S g T HoT T T




2. The momentum of the bullet would be more than that of the gun / Tt T HaT, g =l TAAT
et grm

3. The momentum of the gun would be more than that of the bullet / g T HaT, TIEAT &l TAAT H
SRR

4. Both would have certain velocity and so have the same momentum / FTT H & 3T gIIT ¥
THTTT THTT HaT T

Correct Answer :-

« The momentum of the bullet and the gun before firing would be zero / Tt FATH & T ITTAT
A g T HaT T T

9) The structure observed by Robert Hooke under the microscope was: /
GeHaei & Sl ¥ad g gRT Ufard Ft S T=

1. Onion peel / WS T fesctapt

2. A slice of cork / WWWW

3. A flower / Uh Tocd
4. A seed/WE‘ﬁﬁf

Correct Answer :-

« A slice of cork / BIb P UDh ch Sl

10) The frequency of wave with time period 0.05 s is:/
Y 3af 0.05 DS Afgd a1 Dt Mg gHt:

1. 20 Hz

2. 500 Hz

3.2Hz

4. 50 Hz

Correct Answer :-

e 20Hz



How will the force between two masses m] and m2 placed at a distance “d” change, when the

masses are doubled and the distance between them is halved? /
‘A T 9T @ AT FAAM m1 AR mo F = a9 F TGS T gHIT, T 3% T SR HiT

1. Force becomes 16 times the initial force / a1 Y% a1 FT 16 AT 21 JATAT & |

2. Force will be halved / <t 3T&IT g1 SO
3. Force will be doubled / & FRAT gT S0

4. Force will not be changed / st 9@ A&t g

Correct Answer :-

- Force becomes 16 times the initial force / T YT a7 FT 16 AT &7 AT 2 |

12) As per Whittaker’s classification, which of the following is not a Kingdom name? /

B & THI0 F AR, FuffEa § § S |1 o &1 914 781 82
1. Bacteria / SR

2. Fungi / ®ddh

3. Plantae / WIicl

4. Animalia / T-HferT

Correct Answer :-

. Bacteria / &I

13) Which of the following is not an acute disease? /
Frafafaa & @ o i ve ik dard T 22

1. Cancer | H¥R

2. Elephantiasislﬁf’l'q\il_q’

3. Diabetes / AYAT

4. Common cold and fever / Wﬂﬁxﬁ?@ﬂ

Correct Answer :-

+ Common cold and fever/WﬂﬁGﬁTW



A girl is carrving a school bag of 4 kg mass on her back and climbs up a hill of height 500 m in

20 minutes. The work done against gravity is (g=10m/s?): /

UE sl of el i W 4 el GeaAe & Th o9 301 @ b 3R 20 fAee
# 500 #Hiex F=15 F 9BI3I W TGl ol AEcAHyoT & fawg fhar ar &1 ¢
(g=10m/s%):

1. 2X10% )
5 2X10° )
3. 2X 10 )

4. 2X10°%)

Correct Answer :-

Topic:- General Computer

1) In MS word 2010, shortcut key to undo performance is: /
THTH T3 2010 H, 3§ WHIHT $H1 & [T WAicHe Fi 8
1. Ctrl+A
2. Ctrl+Y
3. Ctrl+U
4. Cul+Z

Correct Answer :-

o Ctrl+Z

2) ROM stands for _ /

AT @MRANTH) FIYUIET

1. Read Only Memory / e et AuRt
2. Read Only Message / 3s 3ifelt B
3. Read Of Memory / 1S 3 ARt

4, Ride Only Memory /XSS 3l HERY

Correct Answer :-

+ Read Only Memory / e i TaRT



3) Where does the formula bar present in the MS Word 2010?/
THUY TS 2010 § BIHAT IR Hei HiG g1 82

1. In review tab / ﬁﬂ%_d

2. There is no formula bar in MS Word / THIH atrf T m tﬁji?ﬂ dR qﬁffﬁ?ﬂ %I
3. In insert tab / ?F\q_cF %_d H

4. In home tab /B;Tq %_G['B[

Correct Answer :-

o There is no formula bar in MS Word/waéﬁmﬁ%aﬁﬁmél

4) Where does the file name appear on the MS Word window? /
THTH T3 faSt W wigw o1 A1 gl fews de B

1. Title bar / CIgcc] IR

2. Ribbon / &

3. Status bar / ¢ TH IR

4. Home bar / Eﬁ'q dR

Correct Answer :-

« Title bar / CIgcd dIR

5) From the given chemical formula, H2O what does 2 appear to be in MS Word 20077 /
THUE TS 2007 A, few a0 trErfee G H20 & 2 & e YR gafdid fEhar stream

1. Belowscript / ICRIESHL
2. Superscript / W@'
3. Bottomscript / SlcHshiE
4, Subscript / JaEhi

Correct Answer :-

« Subscript / JIwhi@

6) Which among the following can store a large amount of data? /

fFrafeafaa 7 @ $14, 3T 3 781 431 B TR B AhdT1 82



1. CD /TSt
2. Hard disk / B'I_Sc e

3. RAM /31
4. Floppy disk / TriTU! f&%ah

Correct Answer :-

« Hard disk / BTS f&%p

7) Which among the following is NOT ‘Page Border’ Setting in MS Word 2010? /
TH 98 2010 §, i & @ o9 a1 9w s A 22

1. Box / S

2.3D /381

3. Peculiar / W

4, Shadow / T\ﬁ?ﬁ

Correct Answer :-

« Peculiar/ ﬁaqi?«m

8) In MS Excel 2010, sparkline can be accessed from: /

THUY TR 2010 §, WTHATSH BT SUANT ggi & fHar o gevdr 8-
1. Insert tab / 3TC ¢§

2. Design tab / foITgT 2

3. Formula tab / BIHAT ¢&

4. Review tab / R&g ¢§

Correct Answer :-

« Insert tab / sﬂ_cp %_d

9) In MS Excel 2007, where can you find the charts group?/
THTH TR 2007 H, 39 I1S YU gl T Thd 82

1. Home tab /@ﬂ%@'

2. Page Layout tab / O A3M3c o

3. Insert tab /37\‘:|_C.F |



4. Formulas tab / U’T\IJ%T cq

Correct Answer :-

o Insert tab/ 37\‘:|_C.F %_d

10) In MS Excel 2010, the shortcut key to apply or remove bold formatting is: /
THEH TR 2010 #, o8 BIA T P A1 He- T FrepTem & fore 2iidee 31 8:
1. Ctrl+4

2. Ctrl+3

3. Ctrl+2

4. Ctrl+5

Correct Answer :-

o Ctrl+2

11) In MS Excel 2007, to remove the outlining from your worksheet, choose the
option from the submenu under the ungroup button. /

THTH TR 2007 H, 3T qHRIE I ATSCATSAT DI g & g, 3FYU ¢4 & dgd
LERE ) fawea g1

1. Clear / TR
2. Clear Outline / IR S IRNIES]

3. Outline / T3S

4. Bottom Outline / SIcH 33 AR

Correct Answer :-

« Clear Outline / FITOR S IRNIES]

12) In MS Excel 2007, to trace errors and show the cells that are referenced in a formula, we

use buttons. /

THTY T 2007 H, Ffeat &1 uar M ok widar # wefifa aal &1 o™ & forg, g0
¥ BT IR PR 5|

1. trace formula / E\FWIVTIK’IT

2. trace/aﬂ

3. formula auditing / t|°—|V'H'\LC‘|T it



4, formula / qﬁ%

Correct Answer :-

+ formula auditing / EIW—\IJH:T’IT 3{ifefe

13) In MS Word 2010, sheet has its length and breadth as 5.83 x 8.27 cm. /
THEE S 2010 ",  fic &) dard R ST 5.83 x 8.27 AL BT &1

1. A6

2. A5

3. A4

4. A3

Correct Answer :-

« AS

14) In MS Excel 2007, you can design a worksheet in such a way that data is formatted
differently, based on the values the data assume at any given time. This is called as
i

THEH TR 2007 §, 3ITY U gh 3T B 59 e | fS9rsd &% "obd g fob foad) oft o
wmgaﬁ%mwwéam-mwmmwﬁlsﬁ
HET I g

1. Unconditional Formatting / B SIRHA BIH eI
2. Conditional Formatting / S BIA T

3. Formatting / BIH e

4. Data Formatting / ST BIH T

Correct Answer :-

« Conditional Formatting / SaIRId WIH T

Topic:- Draftsman Civil Surveyor

1) The compression that causes friction to slide between the plates is called  action. /
HilsA ol Wel & g fhae s R adur dgrovare, 38 frarsgd €1

1. clamping / S

2. driven / m



3. shank / 2d
4. frost / WTE

Correct Answer :-

« clamping / Y

2) is obtained by cutting the brick longitudinally into two equal halves. /

3¢ O] THdd ¥U F g SR1ER 320 § Pl d e grar g
1. King closer / {7 ailoR
2. Squint quoin / f&he ®iga
3. Queen closer / B FATOR
4. Closer / FTSR

Correct Answer :-

« Queen closer / B FAIGR

3) Microprocessor unit in total station processes the data collected to compute: /

ﬁ@;ﬁﬁmﬁwmﬁaaﬁmmﬁ%mmmw%ﬂaﬁﬁﬂﬂa
CXGLEE

1. X,Y,Z coordinators of the observed points only / FHad Uferd ﬁﬁi’rﬁ & X,Y,Z 9H-ddh
2. All of the above / G’qq?ﬁ it

3. Horizontal distance between any two points only / dad fat it ar ﬁ'_@,@'ﬁ & o @1 afast

4. Horizontal and vertical angles only / Had afast 3R 2 Yo7

Correct Answer :-

- All of the above / STYard Tt

4) Tellurometer is an example for: /

SRR fA &1 U 3BT ©:

1. Type of surveyor compass / A& HHT BT b UHR
2. Microwave instruments / HTI3sh1dd SU®BRON

3. Visible light instruments / €9 ThTRT SUHRUI




4, IR instruments / Gﬂgi’:‘l'l? JUHN

Correct Answer :-

o Microwave instruments / H I$9b\l ad IUHIN

5) The total station accuracy of measurements varies from per km. /

HIY & o WA IRl db wia [l aqadt 21
1.5 mm to 10 mm / 5 Tt 9 10 et

2.5cmto 10 cm /5 AT 10 IHT

3.50 cm to 100 cm / 50 JHT F 100 T
4.5mto10m/5 T 10T

Correct Answer :-

e 5mm to IOmm/SﬁIIﬁﬁlOﬁﬂﬂ

6) The number of links present in a revenue chainis ./
TS AU yaet | Higgi Iufeya gl §1

1. 16 links / 16 IS

2. 20 links / 20 HIST

3. 10 links / 10 HISTf

4.12 links / 12 ST

Correct Answer :-

« 16 links / 16 BT

7) The Indian type of water closest is also known as the type of water closet. /

gﬁva@@e%uﬂ?ﬂnmﬁ UPR & dicx Fae & I A H ST Sirar
|

1. Squatting / wafd
2. Spindled / f&ISd

3. European / @ﬁfﬂ
4. All of the above / B'Clgaﬁ gyt

Correct Answer :-



+ Squatting / i

8) A line on a map joining points of equal height above or below sea level is called ./

Y% WR A -9 91 SR G0 Ha15 & fdgeil ot siie a1l AHRE R Td @l
HEard 8|

1. counter surface / UCcl Hde
2. profile line / RSt 3T
3. level line / &R X

4. contour line / JHe G

Correct Answer :-

« contour line / JHIT Y@T

9) A circular course forming an archis called ./
TS 1Y g4I §8 qUIPR JEAT Dl BT gl
1. Arch tread / 3T 2_6'

2. Arch spandril / 3T Tifsd

3. Arch ring / 31 A

4. Arch rise / 3 I3Td

Correct Answer :-

« Archring/ 3T A

10) Barometer is an instrument used for measuring i

RR @i e, e s s R dar?l
1. distance between points / Gl faga{l & offa gt

2. slope of line / T &1 FHbTA

3. wind velocity / §aT &1 AT

4, atmospheric pressure / dIgH USHIY Gad

Correct Answer :-

« atmospheric pressure / dIYH IS GaTd



11) Where is tongue plates provided in a steel girder? /

W TSR A T W@ Hel uR & et}

1. The lower end of the web only / FHad old & Had SR R

2. Upper flange and lower flange / ST Feiet 3R e tefet TR
3. The upper end of web only / Had SITd & HW] BR W

4. The upper end and lower end of the web / SITcT & S BR 3R g BRI R

Correct Answer :-

+ The upper end and lower end of the web / SITc] & S BR R A BRI W

12) Which one of the following statements is INCORRECT about wooden lintels? /
Ahsl & ficel & IR & g & A S T HYF Ted 82
1. Wooden lintels cannot support heavy loads. / dd‘k’inl & fofed YR} g 7‘|€[ gg dhY g&hd %I

2. Wooden lintels are widely used in construction. / fAafor aﬁ & fefedl &1 I ﬁﬂﬂ
U ¥ fpar Srar 3|

3. Wooden lintels are not much used. / ﬂcbs_nl & feiedl BT ITAN dgd Gﬁ%ﬂ@%ﬁﬁ%l

4, Wooden lintels are not fire proof. / (‘M)S,nl & fofead IfRIU® qﬁm %I

Correct Answer :-

« Wooden lintels are widely used in construction. / BEIUE:| AP o] & fefedl &1 3uanT ﬁﬁﬁ
=0 Y fpar St 8|

13) Which one of the following procedures will increase the range of a total station
measurement? /

Frafafaa 4 9 19 @ v ufrar oo 2= 919 1 R—RiE &) gl
1. Using new batteries / Tsc a?ﬁtﬁ Gl B'CITnT[

2. Using multiple prisms / 9§ Ul &1 3garT

3. Inverting the prism / fOSH B Seel BT

4. Measuring at noon / E-TEIBT R INE

Correct Answer :-

« Using multiple prisms / dg Ul &1 3TarT

14) Which one of the following methods is largely used for welding of rails in workshops? /



éﬁ;ﬁl@@ﬂﬁﬁﬁ??ﬁ@ﬁfﬁﬁﬂﬂW@ﬁﬁﬁﬁé‘%ﬂ%ﬁﬁmaﬁﬁ

1. Chemical welding / JEH® dfcgT

2. Oxyaceatylene welding / &mﬁﬁ:{ afeET
3. Flash butt welding / TR ¢ AfeeT

4. Electric arc welding / 3@% 3T afeET

Correct Answer :-

« Flash butt welding / TR §¢ e

15) Which of the following does NOT belong to EDM instruments? /
= § & 31 a1 $3teH Syl @ wefta T8 82

1. Geodimeter / TT3{TIEIHIER

2. Planimeter / &3HTG}

3. Tellurometer / é@j’iﬂa
4. Distomat / f$%He

Correct Answer :-

« Planimeter / m

16) Which of the following are advantages of using total station over the conventional
surveying instruments? /

fFrafafad @ 9 $19 O TRuR® Td&ur SUHIUN IR $d WIF & ITART & a1 82
1. Employed for map making and plotting contour and cross sections only /

HId B T 3R JHERT 3R 3R HIe & W fobdl ST & forg ugad g
2. All of the above /

Sy Tt

3. Only manual errors are eliminated /
Had g Ffedt THI gl oIl g |

4. Only field work is carrying very fast with accuracy /

Fad =g B ggd doil ¥ TPaT A B B

Correct Answer :-



o All of the above /

Sugad ot

17) Which of the following types of survey takes into account the shape of the earth? /
fFrafafed o fra yoR & 9deur §, il & MeR &1 e | a1 1T 82

1. Plane surveying / THAA A&l

2. Common surveying / JTH e

3. Soil surveying / Hal e

4. Geodetic surveying / quﬁl?ﬂq“v'ﬁ&‘l'UT

Correct Answer :-

« Geodetic surveying / wﬁﬁﬂnﬂé‘&m

18) Which type of foundation is found to be economical, when heavy structural loads from
columns, piers or stanchions are required to be transformed to a soil of low bearing capacity?
/

g EHY, U, AT TR A U TSR UR B $4 = grran arenl gt § agaq &t
TRl gidl 8, dt B At Aia frwrdt urdt et 82

1. Spread footing foundation / P gU HUR CISIBIE (%Qs Q?‘%‘T WIG%QI-—I)

2. Pile foundation / G =i (UTISd T3 STM)
3. Well foundation / 37531 g (dd BT STH)
4. Grillage foundation / FISRIGR i (DA BISSTM)

Correct Answer :-

« Grillage foundation / ﬁ@ﬁ?ﬁ =ia (@Iﬁﬁf SARICRIEN

19) Clinometers are used for: /

AfaaTd (@ i) ygw fFa o §:

1. Setting out right angle / gre v Ryl w3 & ol

2. Marking the points / ﬁ_g"e'ﬁ 3! Fafgd H & ferd|

3. Locating the centre point / % %@' 0 B & el |

4, Measuring the slope of line / G S dPbIld ®I AT & ford |

Correct Answer :-



+ Measuring the slope of line / G dPbld &1 |10 & ferd |

20) The foundation in which a cantilever beam is provided to join two footings is known
as /

SMTYR FoRIA 3 TP B S & forg F<ASta® eRT e fPu o €,
CAICRS

1. combined footing / Adl WHDT

2. raft footing / a?;T G
3. strip footing / qg}f RERSEal
4. strap footing / UST WHD]

Correct Answer :-

« strap footing / UST AHD]

21) Wash basins, sinks, bath tubs, drinking water fountains and the like all come under
which of the following category of fittings? /

i 9RE, Ri, 91Y o9, 79 & Ul & AR iR 39 avg &1 9ot i, fefdn 91 fow
Joft & el 3Tl &2

1. None of the above / dLIEIdTI o3 d;l'ig BEl

2. Bath fittings / AR fOsfd
3. Soil fittings / JaT {1
4. Ablution fittings / & fOh{T

Correct Answer :-

« Ablution fittings / U&{TeT fthfcT

22) The line joining of the optical center of the object glass to the center of the eyepiece is
known as .

m%%ﬁﬁmm$mWﬁvﬁsﬁmm & A |
|

1. line of collimation / JHIGARTT <@l
2. axis of telescope ) SferpIa o3&
3. axis of level tube / TVId Y& & &

4. axis of plate bubble / I T P 3H&f



Correct Answer :-

« axis of telescope ) eIy & 3fey

23) The distance of a point from the origin along the east-west line is known as .
vd-uf3m Y & 91y uE § v g # g HEA I

1. departure / 31&TdR

2. latitude / 3T&ITRT

3. independent coordinator / T2 H-GYD
4. consecutive coordinator / ShHITd JHdYh

Correct Answer :-

« departure / &R

24) What do the latitude, longitude and altitude displayed by a GPS receiver represent? /

T Siidiey Reftar & grT ueRia g are srariw, SRR, ok g = quifar 82
1. 3D position fix with millimeter accuracy / forcfidier &t CII?%!E(‘H o 1Y 3D UISHRH fhe
2. An estimate of the receiver’s antenna position / REIaR & U & YT &1 S{JHIH

3. The height above MSL / THIHEA ¥ &aTs

4. The height above the reference ellipsoid / Hefid ﬁﬁ@?ﬂ‘” SRS EIIE‘

Correct Answer :-

« An estimate of the receiver’s antenna position / RETaR & U & YT &1 S{JHIH

25) What does a Global Positioning System refer to? /

Af¥e RI-FAruiRor yomelt Fataa gisi=if Rivew) feas Safta g2
1. Satellite system / a%(_*ITE’E e

2. Satellite solution / HeTTIC TG

3. Satellite signal / AcaIge RFd

4. Satellite station / QEGI‘QC bl

Correct Answer :-

« Satellite system / Jcarse Rien



26) When yield stress is well defined, the factor of safety is defined as the ./

WId IdTeA Ufaad & et ave A uRyIia far wiran 8, al JRen FRS B *q
A ufyyiva fear srar 21

1. None of the above / dqfidrl o3y Oh\I‘E: EE|

2. ratio of the ultimate stress to yield stress / sifan ufdad &1 Idre ufdad 9 STUId

3. ratio of the initial stress to final stress / URIH TG &7 3ifcd TG STUId

4, ratio of the yield stress to maximum expected stress / SUIG gfaad &1 Sifdbad sfuférd
gfded ¥ 3T

Correct Answer :-

« ratio of the yield stress to maximum expected stress / SUIG gfdad &1 ffemad Sufard
gfded ¥ 3UTd

27) “The creep is due to impact of wheels at the rail end ahead at joints" ,which of the
following creep theories is based on this statement? /

Q) Tefval & dT A ToRd Y 9 F ufed gRT &M T YaP & HRUT YUl giar 3,
g By f6g quur Rygia wr snefya 82

1. Wave theory / a1 Rigid
2. Percussion theory / HTHTd fRrgia
3. Drag theory / HYT Rrgia
4, Balanced theory / ﬂ_ﬂ%ﬁ Rygid

Correct Answer :-

« Percussion theory / 3THTd Rrgid

28) The expected out turn of 12 mm plastering with cement mortaris___ ./

e diek & 91y 12 firefivier wref &1 sriféma ufvomr @rd-arm) ghI
L 8m’/8#’

, 6.5 m*/ 6.5 #r

3. 3.0 m*/ 3.0 #°

4. 5.0 m*/ 5.0 #°

Correct Answer :-

8 m’/ 8



29) The alternate courses of bricks which consist of stretchers and headers are called
/

3¢l & IBfeUd BRI (UTSTHH) ol WeR RIS AT EIAE, Heard ol
1. Flemish bond / TRiTHRT &1

2. Header bond / 8% &8

3. English bond / 35T &S

4. Stretcher bond / TR &1

Correct Answer :-

. English bond / 3{USH &18

30) Both the station are said to be free from local attraction if the difference between fore
and back bearing is i

?@vﬁ,wmﬁwa@aﬁ%ﬂ%wqﬁwm%m 3R
|

180°

Correct Answer :-

180°

31) Galvanizing is the process of covering iron with a thin coat of i

TrearieRur 9g Ufehar g ford dig & I P! Udell URd Ie1 &) STt 2
1. zinc/m(\_ﬂﬁ'l)
2. tin / feA

3. glaze / TS (THPIQT QTR
4. coal tar / PIA AR (TR dRT)

Correct Answer :-



. zinc/mm

32) Who was the first person to suggest the basic formula for determination of pavement
thickness? /

T aTell g8 @ (Yawie) #1 wiers Auifyd w31 & e gfrard) 3 o1 gena &1 aren
=1 o 3 o1 a1 uyw fed 9

1. Kelly / el

2. Spanglar / TR

3. Picket / fUbC

4. Goldbeck / e d®

Correct Answer :-

o Goldbeck / ‘i|¢33$

33) On an absolutely rigid foundation base, the pressure will: /
3rewid g g YR W, 319 gR:

1. Be more at the edges of the foundation / Hd & IRl W 3ifdew EﬁTIT
2. Be zero at the centre of the foundation / 19 % W f[ ][ f-ﬁTIT

3. Not be uniform / THTH Tt Lo

4. Be uniform / ThIHTT ?%‘II

Correct Answer :-

« Not be uniform / THTHM Tl T8

34) Magnetic declination at any place ./

frf A WRgEoaea |

1. changes abruptly / A IHId gfkafdd glar g

2. remains constant / RR Yedl %

3. can be easily predictable / ST A GEFITﬁH fopar o gamdn %
4. does not remain constant / fRR g1 Tgar %

Correct Answer :-

« does not remain constant / f\aﬁ '_-I_E?[ Jedl %



35) Efflorescence in cement is caused due to an excess of ./

e § Sapea o1 UfrHar & FRUT AT B
1. alumina/aﬂ&l:ﬂ

2. iron oxide / 3TIRA HFZS
3. silica / IANER]
4, alkali / &R

Correct Answer :-

« alkali / &R

36) In which year did Charles Vignoles invent flat footed rails? /

YT fariere A ®19 4 99 § Wle Ees val &1 fashR faar ur?
1. 1836

2. 1846

3. 1826

4. 1816

Correct Answer :-

« 1836

37) A current meter measures the velocity of flow, if it is held ./
T YRT Hiex a18 & RS 719 g, IS 38 W TG ST B

1. on the surface of water / SIc] &t ddg

2. at a mid-point of the cross-section / STFUR] DhIC & 0 ﬁ‘g

3. at any point within the cross-section / JUR] PhIC T fopadt oft ﬁ_g"

4. at the bottom of channel / Wﬁ(%ﬂ?“l) &

Correct Answer :-

« at any point within the cross-section / IUY] hIc o foredt oft ﬁg

38) is constructed across the flow of sewage to detain floating matters such as oil,
grease, etc. /



o da9 yarg | a9, ¥, s o avd erdf &1 e & fore a9 Srar g
1. Grit chamber / bR} HE

2. Skimming tank / BT EH

3. Screening / EhITTT

4. Sedimentation tank / (GG Tht

Correct Answer :-

 Skimming tank / fepfii ¢

39) s the ideal shape of a transition curve. /
HHHUT G5h T T A PR _____ 3

1. Clothoid / FIIUTTS

2. Cubic spiral / Y gita

3. Cubic parabola / Y UIdelq

4. Lemniscate / W

Correct Answer :-

« Clothoid / FAUTTS

40) is the bottom most component of flexible pavement. /

el WIS Aol Y& (FifRad Ugic) FTHTa A dTged  gare
1. Base course / 99 ®IY

2. Base / 99

3. Sub-base / G&-99

4, Sub-grade / 998

Correct Answer :-

« Sub-grade / 998

41) is known as the ratio of longitudinal stress to strain within elastic limit. /

YA W1 & WeR daad ufdad &1 a9 | urd FEardi gl

1. Shear modules of elasticity / UATRIAT BT U=YU] HYTdh (HTSQQ’NI)

2. Modules of elasticity / TTRIAT &I HTUIH (HISAH)



3. Tangent modules of elasticity / YHTRIdT I =T A1 (H\I’S'gﬂ{-l)

4. Bulk modules of elasticity / TTRIAT &1 Y1 ATUIH (Hiega™)

Correct Answer :-

« Modules of elasticity / T BT Ui (Hi<ITH)

42) is known as the vertical angle between longitudinal axis of a freely suspended
magnetic needle and a horizontal line at its pivot. /

_ PIYE YA dCH] §s TP gs b AT 3181 9UT 359 fiae w afafsre
¥@1 & §9 &1 B FET ST 2|

1. Dip / 3{dUid
2. Bearing / SR

3. Azimuth / ToltHY

4. Declination / feN=fa

Correct Answer :-

 Dip / AHdUld
43) is known as the ratio of rate of change of discharge of an outlet and parent
channel. /

it fonty wa g@ 991a & fFeaRor & uad= 3t g & Srqurd &1 FETH
ST STt 8

1. Efficiency / Q&I

2. Flexibility / TRTcTg—

3. Sensitivity / SRl

4. Modular limit / THTGIT AT

Correct Answer :-

« Flexibility / TAaTg"

44) is known as the arrangement made to divert the trains from one track to
another. /

IS B TP ¢P ° gu¥ ¢P UR Uidaid B3 & AT &1 91+ arelt sgawan &
U H ST STt 81

1. Turnout/ET'f\’rHGE



2. Railway junction / I<Td SR
3. Railway point /@A 13IV'I3_C’
4, Railway crossing / dd IR

Correct Answer :-

e Turnout/ ET-TCH [3C

45) is known as the stress in the wall of a thin cylinder subjected to internal

pressure. /

gmm$ar%ﬂqﬁ7&nﬁuaﬁﬁlﬁimaﬁﬁmﬁmaﬁ ST STl
|

1. Shear / RIR (Elﬁlaﬁ)
2. Torsional shear / GRS FRRR (Ilﬁ‘s’ Uﬁaﬁ)

3. Hoop stress /E'ql;lﬁl_cﬁf

4. Hoop compression / §U TuteA

Correct Answer :-

« Hoop stress / gql;rf%a?f

46) is known as the highest line of sloping roof where two opposite slopes meet. /
Y ST dTell Bd DI HaH S @1 BT o1l 8, 5igi & faudia gom fired 31

1. Rafter / W&pf RTUR)

2. Crown / RR&R (h13-)

3. Eave / 3{Iddt (R9)

4, Ridge / Ch (QTID

Correct Answer :-

. Ridge / Heh (9

47) is termed as the excavation exceeding 1.5m in width and 10 sq.m in plane
area with a depth not exceeding 30cm. /

P Se@- A a1 a1 & forga! dietg 1.5Her A oiftre g ok Iwda aF &
AFwd 10 T Hew A 4ftre g 9 309 | 3rf¥res 8} g1t =nfew |

1. Excavation / 3od-



2. Surface dressing / Hdg éﬁm
3. Surface excavation / "ddg Jcdqq
4, Cutting / P

Correct Answer :-

« Surface excavation / Hdg 3d-

48) is used to measure the area of any irregular figure of the plotted map. /

T YN TR AFfRE (wWies Av) 3t [ oft srfFafia snefa & arwa
31 q17_ F fore far srar 21

1. Clinometers / 3fTfqHT!

2. Optical square / HifPewd arf
3. Sextant / FHee

4. Planimeter / &ATYT

Correct Answer :-

« Planimeter / m

49) is caused by poor mixing of cement concrete. /

¥} TRe A ffda fpe e e $ie o1 aRumH gar g
1. Bleeding / CSllRl
2. Segregation / 3{cliId
3. Honey combing / E_Fﬂ I
4. Air voids / TR A10gd

Correct Answer :-

« Honey combing / &1 BT

50) is the station which is selected close to main triangulation station, to avoid
intervening obstruction. /

98 WX ¢ ol fAuymdt a1en & 9+ & e, g1 Ayes WF & a9
AT ST B |
1. Eccentric station / $ORTIEOb YA

2. Pivot station / fUde W&IH




3. False station / ToTed W

4., Satellite station / gc\iﬂlic %EQH

Correct Answer :-

« Pivot station / e TX=

51) is the first stage of deciding the alignment of a hill road. /

ddIg Ge& &1 T@Ul Fuifvd $ &1 yyw 3w gaT gl
1. Trace-out / ¢H-3T3¢C

2. Detailed survey / fa&qd A&

3. Preliminary survey / WRfH@ Td&for

4. Reconnaissance / a'JZI'I_E»:'-‘lT

Correct Answer :-

« Reconnaissance / JHTSY

52) is known as the relation between the area irrigated and the quantity of water
used. /

Riftfd 7 RSN PTG F AT S ST GGY S derwrai el
1. Drop / UTd (S10)

2. Feeder / HR&h (B18R)

3. Duty / STTH (<)

4. Drift / 3Uarg (fgtre)

Correct Answer :-

. Duty / SIcHM (YY)

53) Meandering of a river generally occurs in which of the following stages? /

fFrefafea & 3 o9 @ sawit # 9 ar=id: guaeR urdt St 32
1. Delta stage / STl ol
2. Boulder stage / CIEE (TnﬂTQTD Lol

3. Trough stage / ETVEE (Tl?f) Lol
4. Rocky stage / NED| (E@'I:ﬁ) Lol



Correct Answer :-

 Trough stage / ETUCE (Tl_rf) Lol

54) Los Angeles machine is used to test the aggregate for ./

AT AR & U oa &1 wieor w3 & e wged ot 9l 21
1. crushing strength / J&a P pages]

2. water absorption / SI¢] SN

3. impact value / YHId HIH

4, abrasion resistance / SN YRy

Correct Answer :-

« abrasion resistance / G‘I'q‘EI'EfUT ufeRIY

55) According to L.S. specifications for M 150 mixed concrete, the local bond stress is .

M 150 fif3ra wepie & forg, 1.s. fafd=n & saR, Wit ey ufded (died ai-s
wWH)__ gargl

1 30 kg/em? /30 Ferams’
5 10kg/cm? / 10 faramaer
3. 20 kg/em? /20 Tram/aa>
4. Skg/em? /5 FRamEa?

Correct Answer :-

. 10keg/em? /10 frama#r

56) A triangle of railway consists of ./

Yad & Ao | g gl

1. one turn cut, one split and one diamond / Tdh ET-T D, Uh e aur Th SHS
2. one turn out and two diamonds / U T 3I3C auT Eﬁ SHS

3. two turn outs and one split / 3l T 33T TYT U fRae

4. three turn outs / T &1 33T

Correct Answer :-



« two turn outs and one split / Gl ¢ T3¢ dYT T f&eie

57) In measuring length of a line using chain is too long, the error will be: /

TS BT YT B §U TP 3@ Dt GE1S BT AU ST, Igd @9 gidl 3, Ife g
1. Both A and B / A 3R B &I

2. Positive only / R eF TS

3. None of the above / B'CREIH?‘[ o3y ﬁé el

4. Negative only / R FomEs

Correct Answer :-

+ Negative only / % Bome®

58) Bessemer process is used for the manufacture of: /
SHHR ufehar saa fmtor & forg Suai & arg @ 8:
1. Wrought iron / dISJ FhET

2. Pig iron/ﬁﬁ?ﬁfﬂ

3. Steel / WId

4. Cast iron / bl ?h_EfT

Correct Answer :-

o Steel / HId

59) When a canal is carried over a natural drainage, the structure provided is known as: /

SId TP e WIpfad oid ST a@ UgHrs Srdl 8, d UeTH &1 91 arelt WRa A= &
A9 | ST STt 8:

1. Aqueduct / mﬁ

2. Syphon / HISW

3. Syphon-aqueduct / W-Wf’l@ﬂ
4. Super passage / JUX g

Correct Answer :-

« Aqueduct/ Eﬁ@ﬂ



60) A bearing of a line is also called ./

TP 3G BT TH JgRET W Hgarar 2|

1. magnetic bearing / DI YTSD (T 1T SURT)
2. true bearing / § ST
3. reduced bearing / P H SR

4, azimuth bearing / feT=r 9afiaT (Q'i;\.ﬂ'ﬂ?‘[ a'CIﬁTD

Correct Answer :-
« true bearing / § ST
61) CANCELLED

If two tangents are produced, they meet in a point called as .

e fERiyE gAg ol €, IR fig R fiadidag . Fgamng|
1. point of tangent / WX fag

2. point of curve / dshdl foig

3. point of intersection / Wfceea foig

4. point of intersection / UfcesaH foig

o\

5. intersection angle / fdes e ®Iul

[N N

6. intersection angle / Yld=9 a1 Pp[U]

Y

Correct Answer :-

. point of intersection / Ufdwsa fdg
. point of intersection / Hfdws - fdg

62) A high velocity conduit for conveying water to a lower level is called as ./

| @1 {1 TR % UgaH & T ue 9= a7 &) urguars Al 8|

1. caving / [eTd-

2. control point / IGUEL| ﬁ'_\g
3. breach / @¥R

4, chute / *ElUEa]

Correct Answer :-

o chute /uaﬁm



63) What is the optimum depth of kor watering for a rice crop? /
U P! B & ¢ BR RS B srgFaan TeTs 1 gt 82
1. 19cm / 19 Y

2. 20cm / 20 THI

3.15.5¢cm / 15.5 Gt

4. 10cm / 10 !

Correct Answer :-

« 19cm/ 19 98

64) What is the distance between the inner rail and check rail provided on sharp curves? /
e 9% IR ue™ ot 91 ardl Hadt Y TUT AF ¥a &S 7 B gl R gl 82

1. 40 mm / 40 fret

2. 42 mm / 42 foe

3. 46 mm / 46 TR

4. 44 mm / 44 forey

Correct Answer :-

. 44 mm / 44 To

65) What is the angle between two plane mirrors of optical squares? /

3TSied a1t a1 uT=ig a7 & & gHad gUun & = 1 B Ior =T BT 82

, 35
5 65°
3. 45°
4, 15°

Correct Answer :-

. 45

66) What is the maximum length and pavement strength of the runway? /



T4 @ SIfUPaH TaTg 3R PeuTy (UTHS) Pt HeIgd! T 82
1. G7
2. B3
3.Al
4. B2

Correct Answer :-

. Al

67) In factory buildings, the horizontal beams spanning between the wall columns
supporting a wall covering are called ./

PREMI & HTH §, AR & WUl & g7 Ha Qfafore §tv <t SR smavor & Igr1d
%, Pgadcl

1. lintels / fefea

2. trimmers / fCTR

3. stringers / REOR

4. girts / e

Correct Answer :-

. girts/]%l_c'

68) For diversion of flood water of rivers, which of the following types of canal is
constructed? /

Afea & 91 & Ut & AUy & forg, fAe & 9 #19 § YR &1 788 9418 Sl 82
1. Perennial canal / {-Ildcdﬂiacb "IEQ{.

2. Inundation canal / STAWITd (gq%m:[ ) '_‘Iﬁi
3. Ridge canal / Rl '_‘I_EQ

4. Valley canal / it (SUIdDT) T8

Correct Answer :-

. Tnundation canal / ST (3T T) 8%

69) If D is the degree of the curve, then the percentage reduction of gradient is ./

gfiear PIfefpe Aeasrucaufaza grmi



1.0.01 D
2.0.02D
3.0.04D
4.0.03D

Correct Answer :-

« 004D

70) A clinometer is used for ./

TS ATt & fore v far wiran 21
1. correcting line of collimation / FHIRUT 4T & RN

2. setting out right angles / TP &b RITT
3. measuring the slope / @lcl & IO AT
4. defining random points / BICIEIT %Q'Gﬁ DI URHTT B

Correct Answer :-

« measuring the slope / cl¢l o P10 HGA

71) Which of the following is the binding material in water bound macadam roads? /

SAdE TP (APeH) 9SH! 4, 99 gt Frafrf@a d d s @ aid 22
1. Cement/@ﬁ?‘f

2. Sand /:Q_d

3. Stone dust / X1 S (UK &[fen)

4. Brick dust / fo® 3% (_'5:3 uﬁﬁ‘ﬂ

Correct Answer :-

. Stone dust/ ¥ S (TR el

72) Which type of glass is commonly used for railway coaches? /

DI | YPR BT Hid THG: 34 BIY & {1 U g1 82
1. Anti-actinic / UC1- Ufdefep

2. Sheet / ATER(RIC)

3. Pyrex/t”@_d:{:r



4. Flint / 9hHb (i)

Correct Answer :-

 Anti-actinic / Q?.Pf- m

73) The most ruling principle of surveying is to work from ./

HI&oT BT I fUw wu Riegid & EUH B HRAT
1. whole to part / J0F & HRT & 3R

2. part to whole / 4T § quf &1 &R

3. part to part / HIT I HFT 1 3R

4. system to system / JOTEH & JUMGH T 3R

Correct Answer :-

« whole to part/T’f@‘J—ﬂT[ﬁGh?

74) The ratio between centrifugal force and weight of the vehicle is: /

JUHE! T YT A6 F YR & A U A a1 8:

1. gR

v

4, 9R

75) The vertical joint between bricks either in longitudinal or cross-sections is called as

i
PN SFAR TS AT N SICH AT PICH AR, & Hgard |
1. perpend / Aid® (Cl'at—S')



2. bull nose / JHITT (1 o)

3. hearting / Elé'll

4. closer / THETM g (GAOR)

Correct Answer :-

« perpend / TSP (Q'ag)

76) The top portion of the building constructed to protect it from heat, rain, snow and wind

is called as ./
ot sARGT &1 2 YT, o et Ty, b siiv ga1 @ a9 & fore a9 wirar 8, 359
CFIREIGIE

1. batten/afq(qaﬂ)
2. hip / fgu
3. roof / Od

4, gable/‘!élﬁl@?(ﬂ@?l‘)

Correct Answer :-

e roof/¥d

77) The best process of disinfection of public water supply is by .

P GRT ATdSI-1ep ST SATYf< P INMUATR B1 FA9F ufshar gidl 81
1. chlorination / FARIAA (ﬂﬁq@m
2. boiling / HY (JTATCT)

3. galvanization / Tea-1HRUT (TedTTZOIR)

4. adding lime / AT STciI

Correct Answer :-

« chlorination / SR (FARMIZOIRM)

78) The apparent error is on reversal. /

faudy W sarafa® Ffe gl 31
1. less than actual error / ARIdd 3‘% q Y
2. equal to actual error / IRATdD ﬁ% & RIS



3. thrice the actual error / AR FfC BT I
4. twice the actual error / AREI(dD _a'[% GARAL I-'-“

Correct Answer :-

« twice the actual error / ATKIdd ﬁ% Gk I"-“

79) The distance between the projection centre and the photograph is called .

WaUUT &% 3R BISHITE & 9 B got Fgardl gl
1. Principal distance / J¥H @
2. Principal line / H@IW

3. Isocentric distance / &m@ ?\Pf
4. Focal length / Bl d amlé

Correct Answer :-

« Principal distance / ¥ @

80) The width of a dowla is generally kept between 30 cm and 60 cm, and its height above
the road level should be invariably be more than .

ST P TISTE JTHR =7 30 TH A 60 A & S W] A1t 2, 3R ST I8 & TR
P FW SIS FdaT 9 it g+ anfgud

1. 50 cm / 50 9H
2.30 cm / 30 9t
3.15cm/ 15 98T

4, 45 cm/45@1ﬂ

Correct Answer :-

. 30 cm /30 98

81) The minimum recommended diameter of sewers is ./
Rl &1 =gy SRR gl

1. 100 mm / 100 T8t

2.75 mm /75 foredt

3.25 mm /25 THHT



4, 15mm/15ﬁ|1:ﬁ

Correct Answer :-

. 15mm/15ﬁ|'5ﬂ

82) The equation to calculate the tangent of the curve is given by: /

9% Y T a1 P U b FRrw weeRoT g gRT R o 8

A
R sin—
1. 2

A
Rtan—
2
L sin—

A
L tan—
4, 2

Correct Answer :-

83) The process of mixing extra air with water and has a number of useful functions and
helps in the improvement of chemical and physical characteristics of water is known
as ./

oA & 91y Sffafvad arg & fAryor &t ufshar 3k 39 $3 Uit wrf € ofik ora 3t
wrt%ﬁmaﬁnﬁﬁﬁﬁﬁwaﬁ%gwﬁmaﬂ?ﬁ%, & U H S
STt 8|

1. rapid sand filter / §d S1q Fede® (U He fheey)
2. aeration / AT (YRTIM)

3. sprayer / ORI (BIWR)

4. slow sand filter / T 9T e (&l 8 fheey)

Correct Answer :-

. aeration/W(Ql?QQlﬂ)

84) The main ingredient of paint is ./

U &1 g Ueh gl



1. colouring pigment / T 9l
2. base / &R

3. drier / QIUX

4. solvent / faeia®

Correct Answer :-

« solvent / [AdI®

85) The ratio of the strength of compression members with helical reinforcement to those
having lateral ties is .

%ﬁmﬁﬁﬁ?@—wwmmmmmmﬁemﬁ)%mwm
Ao arsw(ury Hafird) are FRRE AdEdieT seuah) degud B

1. 1.04
2.1.03
3. 1.05

4.1.02

Correct Answer :-

« 1.05

86) The maximum super-elevation on hill roads should not exceed ./
UgTS! S&! W Afeau gR-3=dr 9 3if¥e =21 g+ 7nfgu|
1. 15%

2.20%

3. 10%

4. 5%

Correct Answer :-

e 10%

87) Le-Chatelier’s apparatus is used for testing ./

- feruR &1 Iumur & e & fore ygad frar s 31
1. setting time of cement / TiHe 1 RITUT J0Y



2. strength of cement / SIHC BT HoTel
3. consistency of cement / e P Uh=Udl
4, soundness of cement / M ot cedl

Correct Answer :-

« soundness of cement / e &t cedl

88) In a built up section carrying a tensile force, why are the flanges of two channels turned
outward? /

a4 99 g fAffa Ts &, &t 39l & wele 918’ @ 3R 0 Wi W1 82
1. To minimize lacing / RIT DI FAqH HRA & forg

2. To have greater lateral rigidity / 3 UTRd Tgdl U o faQ

3. To have lesser lateral rigidity / H UT=d Tgdl U & fag

4, To simplify the traverse connections / I?I52\9 \ri\ls_ WA TTH P fa

Correct Answer :-

« To have greater lateral rigidity / 3P Wm U & forg

89) Which of the following methods is suitable when several angles are measured from a
single station? /

%aamw&wﬁaﬁvﬁmﬁaﬁﬁ,a}ﬁyﬁr@aﬁﬁaﬁqmﬁﬁrmw?ﬁ

1. Precision method / G&HdT fafg

2. Reiteration method / GIg<Td fafd
3. Repetition method / EFR‘@% fafer
4. Reliable method / faza¥d fafey

Correct Answer :-

« Reiteration method / él%?la ﬁﬁ[

90) The full form of GPS stands for: /
ey &1 faxga ©u = 3:
1. Global Processing System / Tllarc TR Ried

2. Global Provider System / T@Igd Ularsex feH




3. Global Projecting System / Al Weifae T Rieq
4. Global Positioning System / TS ISR fed

Correct Answer :-

« Global Positioning System / Tl GroiI=IT-1T RieeH

91) Which of the following is an example for shallow foundation? /
form & & B w1 el +fia #1 SeERur @2

1. Pier footing / TH Hia

2. Raft foundation / JTUC 19

3. Well foundation / ?Q RG]

4. Pile foundation / Y&iH Hld

Correct Answer :-

. Raft foundation / JT4C H1d

92) Which of the following field tests is performed to determine the ultimate bearing
capacity of soil and probable settlement under given loading? /

A T URYr & qga Y o1 sifow erfar eran Sk wwifaa Faem RufRa s &
fore A A Q 91 a1 & wderor faar Smar 82

1. Air permeability test / dTIg URITEIT TRi&r
2. Plate load test / WIC @IS URI&0T

3. Compaction factor test / EE:F[ DHRD tlff&l'UT
4. Shear strength / U=YU e

Correct Answer :-

« Plate load test / W Al UI&f0T

93) Which type of piles is suitable, where the upper part of pile is to project above the water
table? /

5 YR & Yol (UISe) SUYE BI4 €, S8l Yol BT HU U, SawR & SHUR vafd
TR & R giars?

1. Precast piles / Jd FfHd 4o (hiRe Ugew)

2. Composite piles / G Yol (G UIS)




3. Steel piles / ST Jol (KTl UTged)

4. Timber piles / UHTS G (feTaR Urgeq)

Correct Answer :-

. Composite piles / Tgod Gl (HHIHTZC UTged)

94) Which type of theodolite gives the most accurate result? /

59 yoR &1 Rasiage J9d adie aiomyg 3ar g2
1. Vernier scale theodolite / IR Tl W@W

2. Circular theodolite / Q?ﬂ'q IRUISINIEH

3. Micrometer theodolite / ATShTHICR fAANSIATSC

4. Diaphragm theodolite / STATHTH fITTSIAISC

Correct Answer :-

o Micrometer theodolite / H Isd;l Hex 1Y q\l S\I GIE

95) While designing the retaining wall, the maximum pressure at the base slab shall not
exceed the of the soil. /

YR FIfQ F1 9 3@ TR F4 T4, MR RaT R affpaa e ity @
3fere w1l g

1. permeability / URITRIT

2. shear strength / MUY e

3. compressive strength / Tdrss g

4. safe bearing capacity / W&‘Iﬁ TR &fFd

Correct Answer :-

« safe bearing capacity / w&‘lﬁ TR &

96) The tolerable air pressure under which a man can work is ./
g1 9 19, fords siaifa us safed o1 #= 9Ppar e, gl
. 4.5 kglem? / 4.5 faramar

, 35 kg/em? / 35 faam&ar’

3. 3.5 kglem? / 3.5 faram/AY



4 45 kglem? / 45 e’

Correct Answer :-

3.5 kgfem? / 3.5 Tram#Ar

97) The footing which spreads the super-imposed load of wall or column over a longer area
is called as .

Hig o7 U, &Y 9 AFFd W AR IT WY BT IRAGR UK STadT 3, 39
PR T

1. pile footing / UK ?%T

2. pier footing / R EJ?—%‘T

3. spread footing / s WT

4. deep foundation / TIEQQI Hia

Correct Answer :-

« spread footing / s 3'7%"[

98)
If a 20m chain is used to set out a 13° curve, then the radius of the curve is: /

afg o 20 Hex 1 FSAR FT TAET vk 13°F a S4 & gial ¢, ol 39 dsh &l
&=ar g

1.0.65m / 0.65 HIcX

2.1.53m/ 1.53 HicX

3. 88.153m / 88.153 HIR

4.260m / 260 HIcR

Correct Answer :-
o 88.153m/ 88.153 1:“3?

99)
The design horizontal seismic co-efficient 4, for a structure is determined by: /

foell Tt & AT Bass afasr fdr e 4, 5896 carT TiRa &ar ST &

_gis,
1 T g




ZEIS,
4, =

ZET

A, =—

3. 2R
ZIS
Ay =——
4. 2Rg

Correct Answer :-

s

R 2Rg

100)
In a combined footing, if shear stress exceeds 5 kg/cm?. then the nominal stirmps provided are

i

hFdISes Bicar #, MG TRYUT g6 (HTeus Fidee) 5 RandAr & 317 g1, o
T S A WA S5 o B

1.10 legged / 10 TR Tt

2.8 legged / 8§ TR AT

3. 12 legged / 12 TR ATt

4. 6 legged / 6 TR AT

Correct Answer :-

o 121legged/ 12 R



